This document is meant to serve as a Quick Set-Up Guide only.
Installation manuals referenced below should be downloaded from the NABCO Website and reviewed for complete installation instructions.

GT1175 U-30 Electric Lock Retrofit Kit Quick Setup Parts Guide
P/N 15-12499-030 Rev 12-19-14

X
NABCO«

Nabco Entrances Inc. S82 W18717 Gemini Drive Muskego Wisconsin 53150
Phone: (877) 622-2694 Fax: (888) 679-3319 www.nabcoentrances.com

Associated Manuals Part Numbers: ”1175 Electrical Installation Manual **with U30 Microprocessor Controller** (Revision D Software)
Rev 1-10-14 (P/N 15-10596-30)

m e Turn OFF all power to the Automatic Door if a Safety System is not working.

* Instruct the Owner to keep all power turned OFF until corrective action can be achieved
by a NABCO trained technician. Failure to follow these practices may result in serious
consequences.

* NEVER leave a Door operating without all Safety detection systems operational.

Table of Contents
SECTION1: RETROFIT THE BELT CLIP ... \ttttiitttttiieeeeiieeenanneernnnneennnnnns 3
SECTION2: INSTALLTHE ELECTRICLOCK. .ttt e ttiieeeenneeenanneennnnneennnnnns 4
SECTION 3: U30 WITH FAIL SAFE OR FAIL SECURE ELECTRICLOCK .......cvviuueennnnnn. 5
SERVICE PARTS: U-30 ELECTRIC LOCK RETROFITKIT. .. uuttiiiiieiiiiennnnneennnnnns 6

1of6



THIS PAGE IS INTENTIONALLY LEFT BLANK



www.NabcoEntrances.com GT1175 U-30 Electric Lock Retrofit Kit Quick Setup Parts Guide
Rev 12-19-14 P/N 15-12499-030

SECTION 1: Retrofit the Belt Clip

Note: Electric Locks can not prevent Breakout. If preventing Breakout is deemed necessary, panic hardware must be fitted to
the Door Panels.
1. Remove (2) 1/4-20 x 1 inch Hex Head screws used to secure the Belt Clip to the Belt Bracket. Save the spacers, screws and
lock washers for reinstallation.

a. Ensure the Belt Clip stays intact with the Belt, so the Belt does not lose Belt Tension.
2. Remove (2) 1/4-20 x 3/4 inch Hex Head screws used to secure the Belt Bracket to the Carrier. Save screws for reinstallation.
Obtain the Belt Clip Assembly provided within the Electric Lock Retrofit Kit.
4. Review the Belt Clip Assembly to ensure the secured position will match Figure 1 and Figure 2.

a. If necessary rotate the Latch so the Flat Side of Latch faces the Terminal Strip located on the Lock Assembly.

)
o] N

Terminal Strip

w

Terminal Strip

Flat Side of Latch Flat Side of Latch

DN 0743

Figure 1 Proper Latch Orientation

5. Secure the Belt Bracket to the Belt Clip with (2) 1/4-20 x 1 inch Hex Head screws, lock washers, and spacers that were saved
for reinstallation. Do not overtighten the screws.
a. Ensure the Belt Clip is in the correct position (Top vs Bottom) as shown in Figure 2.

6. Secure the Belt Bracket to the Carrier with (2) 1/4-20 x 3/4 inch Hex Head screws that were saved for reinstallation. Do not
overtighten the screws.

Belt Clip Top 1111/16

Power Supply DS 150 Motor U30 Control Terminal Strip

0

o

SINGLE SLIDE DOOR; LHFS, RHFO
Belt Bracket

Belt Clip Top

1111/16

U30 Control DS 150 Motor Power Supply

uﬂl_ —_% 0 0

RRONCX

SINGLE SLIDE DOOR; RHFS, LHFO

Belt Clip Top ‘<— 85/16 —= Belt Clip Bottom

DS150 Motor U30 Control Power Supply Termlnal Strlp

2 : [ DINOIE
W

BI-PART SLIDE DOOR
DN 0742 Belt Bracket Figure 2 Belt Clip Location in Full Close Position

30f6



GT1175 U-30 Electric Lock Retrofit Kit Quick Setup Parts Guide www.NabcoEntrances.com
P/N 15-12499-030 Rev 12-19-14

SECTION 2: Install the Electric Lock

1. Insert (2) 8 -16 x 3/4 inch T-Bolts into the Channel located inside Header and turn clockwise so they do not fall out.

Insert T-Bolt
into Channel

Turn T-Bolt Clockwise
to Lock into Channel

Figure 3 Insert Socket Head Cap Screws into Channel

DN 0738

2. Obtain the Electric Lock provided within the Electric Lock Retrofit Kit.
3. Place the Electric Lock over the (2) 3/8-16 x 3/4 inch T-Bolts.
a. Ensure the Terminal Strip is facing the Pivot side of Slide Door.
4. Loosely secure the Electric Lock to the T-Bolts with (2) 3/8-16 Whizlock nuts.

5. Position the Electric Lock so the Strike is directly behind the Latch when the Slide door is in the Fully Closed Position. Please
see Figure 4.

a. Ensure there is a slight gap between the Strike Wall and Flat of Latch.

Strike Wall

Slight Gap

: \/(Between Strike Wall and Flat of
— — Latch in Full Close Position)

DN 0642

Figure 4 Ensure Terminal Strip is Facing Pivot Side of Slide Door

6. Tighten (2) 3/8-16 Whizlock nuts to secure the Electric Lock to the Channel.
7. Wire the Electric Lock. Please see Section 3.

40f 6



GT1175 U-30 Electric Lock Retrofit Kit Quick Setup Parts Guide

www.NabcoEntrances.com

Rev 12-19-14

P/N 15-12499-030

U30 with Fail Safe or Fail Secure Electric Lock
Electric Lock only works in One Way mode or Night Mode.

SECTION 3

Note

ALIOINdINIS HO4
NMOHS LON S3dIM 43HLO

¥0-22¢501-¢¢ 'Nd

"ASSV X001 34VS TIvd
€0-¢¢S01-¢Z 'N'd

"ASSV X007 3dNO3S Ivd

ONISOT10
a3zsono A1nd a3so10 AT1N4

N3do 11n4 O3S0}

ONIN3dO
440 YNOIS INdLNO

340 1VYNOIS NOILVAILOY

NO

NO

d3NIL LNdLNO

NOILONNS IMIYLS OI¥LOF T = €
(3snLONOQ) = 2
=1

(3sn LoNoQ) =
(3sn 1LON0Q) = 0
¥3NIL LNdLNO

1NdLNO IMIFLS 21410373 = 0 :LNdLNO

JAON LHOIN HO AVM 3NO ONILLIS HOLIMS ¥3MO0Y ‘€ = 4INIL LNdLNO ‘0 = LNALNO XNV TYNINYIL AANVH

VNOIS LNdLNO 3MIYLS D1d10313 0eN

L/8LL-¥Z N/d
NMOHS ATNO %0071 O14103713 404 ONIFIM
SSINYVYH NIVIN 0€N NO TVYNINYIL

TOYLNOD 0€N NO 138V

NOILNY:

T
O [=rmar
~ewwmne [ [+ oz_z~_<§€rul

om._.omwi.vm N/d ._OM._.ZOW oen

LESTT-¥T N/d
SSINYVH TYNINYIL AONVH

o[ o1 9 L NOWWOD-OAAZL
o[ St | 2 g - no (10y09)100-uadQ) IndinQ Ateyixny
| v | || [zl OLNo owwod (A0€-02) Xewvz € "(A0Z-0) Xewys
p (9 1N0) 34vS TIvd e || [ g1N0 DIN “xew(yeadAy Z)AOE
¢==-(V LNO) 34NO3S TIVd------ o[ 2l N 2l |_v1ino O/N (Ajuo peo zsse|D) ding 10ejuo:
| Oof b m l S1S 10SUSS 80uasald d}I|9pIS
H oflol ]| |T| [0 vd 103031 JN0NeaIq
13T0IA ! O 6 ol L6 0S UoneAy [enusnbeg
AVHO Ol 8 M 8 29 UONJEANOY JOLBIXT
7
O %4 o w m_>_ (o] umoys abesn M\S SPOIN 99S) YoMS apo
o[ ¢S A_.\_._v G H HOLIMS ONINIJO d30Na=3y
ol v [ |%|[¥ 49 NY39 ONITTOH
of €] [L|[LE 19 NOILVAILOY HOIG3LIN
w|m 3 mr >§oom Azos_s_oov.wm»w
+
\ "ON[1OGWAS MO0 ©NIaIISTNOLLONNA
(dn @3iL anv a3nioo
ATIVWHON SIMIM 3STHL) mmmzmwﬂwmﬂwwﬂ\m
SIHIM ¥IMOd
OVA 0z} AYVIIXNY d3dVIH OL M3d0S
9N71ANNOYD
HOLIMS
¥3IMOd
440/NO
v28LL-¥L N/d OVA 021 _
| SSANYYH AlddNS ¥3IMOd 2H 09706
%01 F AGLLOVY|

£2€11-¥2 N/d 401vHd3dO/d0LON

LLLL-¥L Nid A1ddNS ¥3MOd

50f6




GT1175 U-30 Electric Lock Retrofit Kit Quick Setup Parts Guide www.NabcoEntrances.com
P/N 15-12499-030 Rev 12-19-14

SERVICE PARTS: U-30 ELECTRIC LOCK RETROFIT KIT

P/N 21-10471-03 Fail Secure
P/N 21-10471-04 Fail Safe

*  Sold in Parts Bag; P/N 12-10599-03

** Not sold in Retrofit Kit

DN 0697

Header
Part Finish/Sizes/Notes Description
1 14-14592 T-BOLT, 3/8”-16 X .75 LG
2 22-10522-03 Fail Secure VON DUPRIN FAIL SEC ELE STRIKE SUB ASSY
22-10522-04 Fail Safe VON DUPRIN FAIL SAFE ELE STRIKE SUB ASSY
3 24-0021-21 NUT, WHIZLOCK, 3/8-16, ZN
4 14-12104-10 BELT BRACKET, ELECTRIC LOCK ASSEMBLY
5 14-11870 SPACER, BELT CLIP, 1175
6 24-11493 CLIP, BELT
7 24-0019-05 1/4” EXTERNAL STAR WASHER
8 24-0014-01 HHCS, 1/4-20 X 1”7, ZN
9 24-0014-15 HHCS,1/4-20 X 3/4

6 of 6



